= Replaces R&R Products Power Lift

ﬁﬂ 7180GD Parts
Pull Frame

" Premier Cutting Unit Carrier

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




= Replaces R&R Products Power Lift

ﬂﬁﬂ 7180GD Parts

Pull Frame
~g Premier Cutting Unit Carrier

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
1 R101552 Chain - 1/4 x 6 Link 1 16.15
2 R154210 Bar - Spring Assy 1 21.75
3 R319755 Washer - Spring Mt 2 3.45

446142,

RO1-166-0010,
R0O1-166-0280,
RO1-166-0610,

R12H304,
4 R3254-6 R3253-5, Washer - Lock 3/8 1 0.08

R3254-18,

R3290-223,

R446140,

R446142,

R48-9370
5 R327970 Spacer - Spring Mt 2 5.70
6 R344094 Spring - F Tractors 2 11.20
7 R343657 Pin - Stop 1 9.85
8 R344364 Pin - Chain to Frame 1 10.95
9 R400266 Bolt - Hex HD 3/8-16 x 1-1/2 1 0.69

R0O1-178-0626,
R112-7161,
R3224-11,
R323-20

10 R400274 Bolt - Hex HD 3/8-16 x 2-1/2 GR5 1 1.60

R30-8530,
11 R460312 R3290-343, Pin - Hair Cotter 2 0.72
R460316

12 RET15804 R444762 Locknut - 3/8-16 Top Lock 1 0.66

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




= Replaces R&R Products Power Lift

ﬂgﬂ 7180GD Parts

Pull Frame
~g Premier Cutting Unit Carrier

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
452008,

RO1-166-0140,
RO1-166-0700,

13 R453013 R3256-5, Washer - Flat 7/16 1 0.27
R452008,
R80-4850

14 R343870 Clevis Pin-1/2x 2 2 2.30
R0O1-151-0230,
R28-10-D, .

15 R460028 R3272-7, Pin - Cotter 1/8 x 1 2 0.36
R48-7530

16 R108096G R009215 Axle - Main Pgf 1 169.30

17 R5000622 R122409 Carrier Frame Assy 1 437.45

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




